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(5) Surds  

 

 (1) Without a calculator, show that ൫√2 + √8൯
ଶ
 is 

an integer. The common error is students writing 10. 

 

 

 

 

(2) Without a calculator, show that 
ଶ

ଷ√଺
 can be 

written as 
√ଶ௔

ଷ௔
 where 𝑎 is an integer to be found. 

 

 

 

 

(3) Without a calculator, show that 
ଶଶ

ହି√ଷ
 can be 

simplified to 5 + √3 . Be rational here! 

 

 

 

  

(1) Without a calculator, show that:                     

ቀ
ଵ

√ଶ
+ √50 −

√ଶ

ଶ
− √32ቁ

ଶ

= 2 

 

 

 

 

 

(2) Show that 
√଺ାଶ

√଺ିଶ
 can be written as 

൫√଺ାଶ൯
೙

௡
 

where 𝑛 is an integer 

 

 

 

 

 

 

(3) Expand and simplify ൫√𝐴 + √𝐵൯
ଶ
 

 

 

 

 

 

 

  

(1) Show that: 

 ൫√𝐴 + √𝐵൯
ଷ
≡ 𝐴

య

మ + 3𝐴𝐵
భ

మ + 3𝐵𝐴
భ

మ + 𝐵
య

మ 

 

 

 

 

 

(2) Without a calculator, show that 
ଶ଴

൫ଶା√ଶ൯൫଺ି√ଶ൯
 

can be written as 𝐴(𝐵 − 𝐶√𝐶) where 𝐴 is a rational 
fraction in its simplest form and B and C are 
integers. 

 

 

 

 

 

(3) A rectangle has an area of 21 + 9√3 and one 

side length of √3 + 3. Without a calculator, show 
that the perimeter of the rectangle can be written in 

the form 𝐴√𝐵 + 𝐶. 

 


